Math 33B : Print Name:
Fall 2015

Midterm1

10/21/15

Time Limit: 50 Minutes TA name ——— section number

This exam contains 6 pages (including this cover page) and 5 problems. Check to see if any pages
are missing. Enter all requested information on the top of this page, and put your initials on the
top of every page, in case the pages become separated.

You may not use your books, notes, or any calculator on this exam.
You are required to show your work on each problem. Organize your work, in a reasonably neat

and coherent way, in the space provided. Work scattered all over the page without a clear ordering
will receive very little credit. Formula that you might or might not need:

Do not write in the table to the right.
Problem | Points | Score
1 20 L5
2 20 ty
3 20 | 9
4 20 1§
5 20 |20
Total: 100 ?4
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1. (20 points) Find the exact solution of the initial value problem. Indicate the interval of exis-
tence.

W =z/(1+2y), y(=1)=0.
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2. (20 points) Find the solution of the initial value problem.
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3. (20 points) Find the integrating factor to make the following equation into an exact equation.
Then find the general solution. (If you remember the integrating factor, you can use it directly.)

~\}/ | (z2y? — 1)ydz + (1 + z%y?)zdy = 0.
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4. (20 points) Su
Ippose that z is a soluti
2 A tion to the initial val
ue problem
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5. (20 points) Find the general solution for the following differential equation.

'+ a4y +y=0.
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